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This might seem high , but you are

fully insoring some pretty bigrisks
that happen with high probability.
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4 (10 - 8 .38)
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.
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Intuitively
,

it does not make sense t

choose agomble that pays
the some

on average
but has higher veriance.



[ptional) 1 If you want a formed proof.
More formally

,
consider the following

table

Prob A E A +2 = B

0 . 09 - 2 &
- 2
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0
.
15-
-
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No to the

E(a) = 0 .15( - 1) + 0 . 15(1) + 0
. 07( - 4) + 0

. 14(2)

-

but V(2) 30 .

By Jensen's inequality conditioning on A.

u(E (A+ 2 (A)]) E(u(A +2)(A)

= u(A) > E (h(A + 2)(A)

=> E(u(A)) > EJE(u(A + c) (A)

=) Eu(A) > En (A+ 2)

Eh(A) > En (B)
=)

forh( . ) concave as rish everse investor.
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2. The first client is morewish

averse since she prefers a lower

standard deviation .
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44 % goes into the risky fund .

b . M = (1 - 0
.3644) / 0 . 08 + 0

.3644x . 18

= 11
.
64 %

c
. 0 = 0

. 3644 x28 = 10
.
20%

⑥ a. Curve 2 is feasible and provides

the greatest level of utility.
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3 x 0

. 08 + 0
.7x0 . 18 = 15%
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.
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Since Op = t On

=> Mp = 0
.
05 + !(0 .

12 - 0 .05) = 8
. 5%

⑨ 0
.3 = w0 . 4 =) w = 0. 75

M = 0 . 25 x 0. 12 + 0
. 75 + 0 .30

=
25

.
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